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A1 =S - T
(FFREB)
FRTEHE (he) 15 15
St iEHERE 15 15
RERRF :
SHF AR
FIFIHE (m3)
| B (ha) 4 6 8 15 12 45
StiEEmME 4 4 6 15 12 41
(3) BT RSO A% : -
' 56 FI AR 2 2 4
FIRHT (m3) 30 20 50
RSIREHE (ha) 5 4 11 12 32
() B AAEL S BT SHAERE 5 4 11 12 32
FAR I :
mEALIERGR 553 AR
FI A (m3) _
R (ha) 4 19 16 11 15 65
As&%q:gﬁ#}%q;g%_ 5"51%?&3& 4 15 19
(REARSHEREHEN | [0 2mmte. 19 16 1| 46
FI M (m3) 1,022 936 1,173 3,131
PR TR (ha) 4 4 45 27 37 39 157
SHIEERE 4 2 10 26 39 107
- 3 [ f; 4 4
SHAMME 21 18 11 50
FIRI#H (md) 1,052 956 1,173 3,181
({E%38)
TEDRT . TREH1ER (m)
GHRPERLEONE | AEEER (M) 350 300 650
CH)FEHRAWEE | '
B E L YRR (m) 500 500 500 500 2,000
FEbE S '
S EA A IER Py : |
A&t {ERE R (m) 1,000 1,000 2150 800 500 500 5,950
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RWEA B\RABHFEI0ASIE FIRES| £54 (SRR 9 £F11 A TE5)
PREEER 13,882
LR AT GRRURRAS) 20. 66ha
oy (57 IR BRISE AE 111 40ha |BE A A 2
A HUTAHE | B 9.25ha
R g0 pe 3 |0.00ha | ATAEHRAGES
FERIDTENER
B $m20$§_%@?1$’§§.25@§?$’3 &
B & 492 2.58 3.90 11.4
ST AR 3.70
O—7& 4.92 2.58 3.90
() I OIS Hiirha
g— %;‘x‘xﬁ 3 #‘W 5 hé v I
$59 | 3.00| 1.78| 1.22(0.00 |skiar
$60 | 4.50| 0.80| 3.70 |0.00 |si
S61 | 3.90| 0.45)| 3.45(0.00 |5
0.00
0. 00
3 |11.40] 3.03| 8.37/0.00
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